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NO.48 Why would you create SQL in calculation views?

*  To implement custom logic

*  To provide an alternative to graphical modeling

*  To fine-tune performance

*  To enable write capabilities

NO.49 Why would you choose an HDI-shared service plan instead of a schema service plan?Note: There are 3 correct answers to

this question.

*  You want to use SAP Business Application Studio.

*  You want to use containers to isolate objects.

*  You want to develop calculation views.

*  You want to create database objects using source files.

*  You want to use synonyms to access external data.

NO.50 Which project structure object corresponds to a unique HDI container?
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*  project

*  space

*  src folder

*  database module

NO.51 You create a table function to remove historic records, sum the current total weekly working hours for each employee, and

update the personnel table with the results. The deployment of the table function fails.Which of the following could be a valid

reason?

*  Your function includes a TRUNCATE statement.

*  Your function refers to a scalar function.

*  You did NOT define a valid table type.

*  You did not define at least one input parameter.

NO.52 You have defined a pruning configuration table in a calculation view.What are you attempting to prune from the query

execution?

*  Calculated columns

*  Filters

*  Joins

*  Data sources of unions

NO.53 Which of the following approaches might improve the performance of joins in a CUBE calculation view?Note: There are 2

correct answers to this question.

*  Specify the join cardinality

*  Limit the number of joined columns

*  Use an inner join

*  Define join direction in a full outer join

NO.54 You want to ensure that your calculation view does not give unexpected results for a query that is based on any combination

of columns.What is the recommended approach for verifying the results?

*  Set the HIDE property for columns NOT required.

*  Write and execute a custom SQL query in the SQL Console.

*  Select Data Preview for the calculation view.

*  Select and deselect columns from the output mapping.

NO.55 Which components are part of SAP HANA Cloud?Note: There are 2 correct answers to this question.

*  SAP Analytics Cloud

*  Data lake

*  SAP HANA database

*  SAP Enterprise Architecture Designer

NO.56 Why would you create calculation views of data category DIMENSION with type TIME?

*  To provide additional time-related navigation possibilities

*  To add a temporal condition to a join to find matching records from two tables based on a date

*  To store historical versions of attributes

*  To provide the time intervals required by time-dependent parent-child hierarchies

NO.57 Which type of join supports a temporal condition in a calculation view?

*  Referential join

*  Inner join

*  Text join
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*  Left outer join

NO.58 Which solutions form the SAP Business Technology Platform? Note: There are 2 correct answers to this question.

*  Application Development & Integration

*  Analytics

*  Intelligent Suite

*  Experience Management

NO.59 In a calculation view, what is the purpose of a variable?

*  To pass values between procedures and calculation views

*  To provide a dynamic value in a calculated column

*  To break up complex SQL into smaller steps

*  To filter an attribute at runtime based on a user input

NO.60 What are some best practices when developing calculation views? Note: There are 2 correct answers to this question.

*  Model star schemas using a sequence of join nodes.

*  Aggregate at the lowest possible node.

*  Include all data flow logic within one calculation view.

*  Avoid defining joins on calculated columns.

NO.61 What are some of the typical roles in an SAP HANA Cloud implementation?Note: There are 2 correct answers to this

question.

*  Data architect

*  Modeler

*  Kubernetes expert

*  ABAP developer

NO.62 What are the consequences of NOT executing a delta merge?Note: There are 2 correct answers to this question.

*  Read performance decreases.

*  New records are not read.

*  Memory is not optimized.

*  Aggregates are not adjusted.

NO.63 A calculation view includes a rank node that uses the source data and settings shown in the graphic.

 

 

Your query requests all columns of the rank node.How many rows are in the output of your query?

*  9
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*  2

*  5

*  6

NO.64 Why does SAP issue warnings about the use of imperative or procedural SQLScript statements?

*  They can limit parallelization of query execution.

*  They introduce potential security risks.

*  They could modify the database.

*  They call multiple processing engines.

NO.65 What is the recommended tool for developing cloud foundry applications?

*  SAP Business Application Studio

*  SAP HANA Cloud Central

*  SAP HANA Web IDE

*  SAP HANA cockpit

NO.66 What are some best practices for writing SQLScript for use with calculation views? Note: There are 2 correct answers to this

question.

*  Control the flow logic using IF-THEN-ELSE conditions.

*  Break up large statements by using variables.

*  Choose declarative language instead of imperative language.

*  Use dynamic SQL.

NO.67 You want to create a star schema using a calculation view. The measures are based on columns from two transaction tables.

DIMENSION calculation views provide the attributes.What is the correct approach?

*  Combine the transaction tables using a star join node in a calculation view of type CUBE with star join./Use a join node to join

the DIMENSIONS to the fact table.

*  Combine the transaction tables using an aggregation node in a calculation view of type CUBE with star join./Use a star join node

to join the DIMENSIONS to the fact table.

*  Combine the transaction tables using a join node in a calculation view of type CUBE with star join.Use a star join node to join the

DIMENSIONS to the fact table.

*  Combine the transaction tables using a star join node in a calculation view of type CUBE with star join.Use the same star join

node to connect the DIMENSIONS to the fact table.

NO.68 You have configured static cache for your calculation view and run a query against it, but the cache results are not being

used.What might be the reason for this?

*  The cache data retention period has expired.

*  You did not define any columns in the cache setting.

*  You did not define a filter in the cache setting.

*  The query requests only a subset of the cached results.

NO.69 What is a restricted measure?

*  A measure that can be consumed by a CUBE and not a DIMENSION.

*  A measure that is filtered by one or more attribute values.

*  A measure that can only be displayed by those with necessary privileges.

*  A measure that cannot be referenced by a calculated column.

NO.70 You have generated a calculation view properties file.What does it contain?

*  Descriptions of all objects defined in a calculation view

*  All settings defined in a calculation view
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*  Dependencies between calculation views

*  Documentation to support the calculation view

NO.71 In a calculation view, why would you choose the DEPRECATED setting?Note: There are 2 correct answers to this question.

*  To ensure it is not exposed to reporting tools for consumption

*  To indicate that it should not be used as a data source to other calculation views

*  To warn developers that the calculation view is no longer supported

*  To lock the calculation view from further modifications
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